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24l 92,522 72,012 20,510
WETI 92,522 72,012 20,510
OHEZS HEX £28 2 500,0008 «7H 3,500
OSASHYI| AHMNE SHA 2
100,000& x50= 5,000
Oax2ASEHN=E Y MHE=0HOH A A 43,510
—A2UAESE 104 363 x56,0000H 2,016
—A2UESE 204 5421 %120, 0000H 6,480
—A2AEESE 504 1182 %210, 0000H 24,780
—A22E25 1004 208 «18,0000H 3,744
— OHE =0t 104 352< x5, 00004 1,760
— HE =00 504 4732 %10,0000H 4,730
otuzs 2el=Hg 2 1,000, 000 =8Il 8,000
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2N
X ZH -
L= B

el

JIEHAIE &5
g Hos2el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMEEE 2Ns I8EE ME
2,000,000 =14l 2,000
OMEEsE 2el=HE H& 2
500,000& x 154! 7,500
OMEssE 2=l 12Y 2
5,000 *x500H4 2,500
OMEEssE 2ex=Hs 0l ¢
350 *300H x12& * 1200 & 1,512
Ogalg Mol & MZE(60s ,1204 21)
5,000,000 =14l 5,000
OsAE8 =HE)D| 2¢ 14,000
— 2| 602l H 30,000 200K 6,000
— 27| 12021 40,000 *200H 8,000
207 I & 33,000 0 33,000
01 g EAY| 33,000 0 33,000
OFAN HE S5 Yo dAxs4H
30,000,000 x 1Al 30,000
OSAMZEFRHIIE U2ARAE JAIWM AF2EH
3,000,000& =14l 3,000
301 et A= 5,200 16,200 A 11,000
11 JIEtE2 A2 5,200 16,200 A 11,000
OMYIl S8ED| ANEZAZ 100,000& *13] 100
O13188 AT MAZS 100,000& *13] 100
OMEESE =1 B&2 5,000,000 1Al 5,000
307 QI2t0| ™ 286,000 167,000 119,000
05 QIZtRES 286,000 167,000 119,000
OSAZSMY I e Xl 1,300 %130, 000 169,000
Ozl & S2YHEI| MYI| /AEH =
450& «260,000& 117,000
308 XAHXIEHSOIA 647,131 1,001,354 N 354,223
07 NIXSHHM2AREES S 647,131 1,001,354 N 354,223
ONFHAZZE MEtMY D Bt Ald222(2
) 561,631,000 14! 561,631
OF=AH A2XRA4MEH HIIS BtYEE2
90,000 *950& 85,500
401 Al HI L 204 HI 50,000 100,000 A 50,000
01 Al&H| 50,000 100,000 A 50,000
OMYDI|l HED =2 cctv & Xl
20,000,000 x204 &~ 40,000
OSEE) &2 o8 MEEX
10,000,000& = 1CH 10,000
s &d22 310,940 273,440 37,500
201 et | 233,940 188,440 45,500
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510, 000& x3H 2 43

350,000& » 123

5,000,000% 14!
) 800,000& 63

150,000& *123]
1,000,000& 14

HolE Hel

60,000 3652
60,0003 118
60,0003 60
60,000& *42|
5,000, 000% * 14
700,000& =204

s Al2el

5,000,000 14|

5,000,000 14|

J000R *20l A %23 x 1200 &

2,000,000 «1294 &

BH )

150,000 * 122
8,000,000 * 14!
5,000,0002 * 14!
60,0002 <23
100, 000! *33]

8,000,000 *1CH
7,000,000 *2CH

)

5,000,000 *2CH
9,000,000& *3CH
13,000,000 *2CH

SEH zalg)

5,000,0002 1=
20,0002 *123]

99,480
6,120
4,200

5,000
4,800
10,500
7,000
3,500
1,800
1,000
5,000
8,000
32,580
21,900
7,080
3,600
240
5,000
1,400

5,000

5,000

3,840
134,460
24,000
5,000
1,800
8,000
5,000
120
300
85,000
8,000
14,000

10,000
27,000
26,000

5,000
240




S$ZESH
HIISXMel JIBAE &5
A=sd HolS2el

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
206 M= Hl 37,000 37,000 0
01 M= 4l 37,000 37,000 0
OF&E=+ Melds ¢ 5,000,000 5,000
O E A=SAE FL(AFHMHM, SHHSE
XA 7,000,000& 14 7,000
OAEES2e & cctv MEEIX ¢ 10,000
OflME 2218 45 Y 5,000& =1,000kg 5,000
OBE+ MelAl& BD 79 S
10,000,000& =14 10,000
401 Al HIZ 201 8] 40,000 48,000 A 8,000
01 A& HI 40,000 48,000 A 8,000
O=24a 34 HESA 10,000,000 * 14! 10,000
OXot =82 2 WH
10,000, 000& * 14 10,000
O&E&+ MeAM&E NsHOH g0d0l=
15,000, 000& 14 15,000
Oztels =8 Z& ZA 5,000,000 =14 5,000
MY JIESEM MAXSE =AHHE8 XA 10,000 10,000 0
< 2,000
s 8,000
201 ¢er24| 10,000 10,000 0
< 2,000
s 8,000
01 At 22l 10,000 10,000 0
OXgJIEsE M HM2AXS =HHS X
10,000, 000& » 1 10,000
= 2,000
s 8,000
SZEHHYEYE =HEHdZ X& 38,000 44,000 A 6,000
= 3,800
< 3,800
fia 30,400
301 et d=s 38,000 44,000 A 6,000
= 3,800
< 3,800
[ia 30,400
1MIIEBESS 38,000 44,000 A 6,000
OsZHHE =HE243 &
38,000,000& x14 38,000
= 3,800
< 3,800
s 30,400
ot G A Dl ALY 57,000 70,000 A 13,000
= 40,000
s 17,000
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SASS I
HII2H 2l JIetAlLe &=
A=ty HolS2e2l (2 &HH)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
101 @124 H] 47,000 56,000 A9,000
= 33,000
= 14,000
04 JI2ZtHIZ2 2 NEE S 47,000 56,000 29,000
Oodtd ESMH I =HAFY  47,000,0002 1 47,000
2 33,000
= 14,000
201 et 10,000 14,000 A4 ,000
2 7,000
= 3,000
01 AP 2t 2] H| 10,000 14,000 A4 000
Odld MY I =2HAFZE  10,000,000& 1 10,000
= 7,000
= 3,000
STYLH MMl 22 10,000 10,000 0
< 5,000
= 5,000
308 XX SHAHSOIH 10,000 10,000 0]
< 5,000
= 5,000
07 NIXSHH2AREESS 2 10,000 10,000 0
OHFZY St2MYI| HeAY N
10,000,000& =14 10,000
& 5,000
= 5,000
CLESY0E EH XNEAY 369,600 369,600 0
= 184,800
= 184,800
402 SI2FXHE0| ™ 369,600 0 369,600
= 184,800
= 184,800
03 QI 2t EF A HI 369,600 0 369,600
OLZ=ZEY0lE EH XNIEANS
369,600,000& 14 369,600
= 184,800
= 184,800
SSEotE &5 NI AY 35,000 10,000 25,000
= 10,500
= 24,500
401 A2 HIL S TH Y| 35,000 10,000 25,000
2 10,500
2 24,500
01 A&l 35,000 10,000 25,000
OZ2sdoly &= XN AL
5,000,000 *7JH & 35,000
= 10,500
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2H: BEESDY
Hz: HIISHE JIEtAlE &=
@2 A=y Hols22 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
| = 24,500
MEE2SUIOEYE X X ALY 51,000 0 51,000
401 Al B 2 0HHI 51,000 0 51,000
01 Al& H| 51,000 0 51,000
OMEBBSUOIY £x e
17,000,000& *3H & 51,000
SO -3 A X WEAMYE XE 1,000 1,000 0
= 500
= 500
201 LBt A H| 1,000 1,000 0
= 500
= 500
01 AtR 22l bl 1,000 1,000 0
OF01H SI&EX WEAH 1,000,000& =1 1,000
< 500
= 500
=2 xelsE &= 1,727,120 1,763,520 N 36,400
=2 Z2Z2H2AE 2229 1,727,120 1,763,520 A 36,400
IIEE2a22H2lAlE 22 29 1,727,120 1,763,520 A 36,400
101 @ 21| 4,000 6,000 A 2,000
04 JIZtHI2E2EXNSE > 4,000 6,000 A 2,000
OM=&g ol 2,000,000& *1 2,000
Oels&X =sZxHH & =22
2,000,000& «1 2,000
201 et A b 430,620 433,420 A 2,800
01 At 22l ] 31,920 32,420 A 500
OJ=EeRZ22H42 Ha=22 S|
3,500,000& =1 3,500
OARA 2928 2 1,500, 000& * 1 1,500
ogaa a1 300, 000& =23 600
oxgs Y 1,800,000& 1,800
OXgs 7Y 1,800, 000& 1,800
O8I gz 30,000& x2CH x12& 720
Ox& 24 =22 3,000,000& =1 3,000
OAl2 2| 7,000,000& «1 7,000
OAE&EH SXE=Hl 2,000,000& =1 2,000
OJllEah s 3 24 222
10,000,000& 1 10,000
02 352494l 398,700 401,000 A 2,300
ozdHE &0 1,000,000& 1 1,000
OgREXNY U 4,200,000& x 1 4,200
O&I|otM2e = 7,200,000 7,200
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EX: sH3Es
M JiE2LHsY 22
e JIEERE22X2lAdE 2e2d9 (2 &HH)
SA BB (SH) - NRAY - B ﬁlgﬁ HRE2
HE= X2 4,000,000 14 4,000
OozH gX&2 3,000,000 =1 3,000
O&EIIR2 29,000,000 x12& 348,000
OMelAld ¥ HH sSA22
20,000,000 x14 20,000
OAgotNM & 3| 100,000& 14 100
OABAE B 2 22 2,000,000& «1 2,000
Qa2 2 4.,000,000& =14 4,000
OFAN &= 1,500,000 =1 1,500
OFANAYE HAEgAH 3,000,000 =1 3,000
OSYS XY HYI FTAN +42
700,000 =14l 700
202 044l 5,000 5,000 0
01 2L Y| 5,000 5,000 0
OIEER 23Hel g2=F& 5,000,000%14 5,000
206 M = Hl 390,000 415,000 A 25,000
01 X2 H| 390,000 415,000 A 25,000
OE2LITHAANL AERY
380,000,000 1A 380,000
OIIE2EE2Z2NMAANE SFXES NP2
10,000,000& 14 10,000
207 A O 4| 3,000 3,000 0
01 4| 3,000 3,000 0
OsHA EHE ILHA 249
3,000,000 =14l 3,000
307 212t0| & 360,000 350,000 10,000
05 QIZ2tEF 2 360,000 350,000 10,000
O Mdel sdX /el 4|
150,000 *x2,400E 14 360,000
401 Al HI L 204 HI 525,500 538,500 A 13,000
01 Al&H| 524,000 537,000 A 13,000
OHIELLIAMZAIE =& 15,000,000 1A 15,000
OHIELLIYMZAIE JIAHEH S22l
20,000,000 =14 20,000
OHIELLI MZAIE MII&H |22l
10,000,000 1A 10,000
OAFHZ AL A 2elt] 20,000,000& =1 20,000
OEldlats & X N3z Hel
19,000,000& 14 19,000
O&dX™el&H |KANES 50,000,000 =1 50,000
ONTHs U MSEN Hel2y SiPs
50,000,000 =1 50,000
O&I & UsSHOW & SANEX
50,000,000 =1 50,000
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AN EIESH
M JiE2LHsY 22
el =233 HelAE 2e2d cet )
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJl=dt 220 OGE MHESAM
150,000, 000& * 14! 150,000
OAFI=a 220 TE HHAZA
100,000, 000& 14 100,000
OJIEtEHl |RXE= 40,000,000& 14 40,000
03 A& =TI 1,500 0
Onatst & HESH XHel38 RAIES
500,000 » 14! 500
O&J & UHSHAH £H "X+
500,000 » 14! 500
O&HXeldd SN2+ 500,000 » 14! 500
AHatE S HI 9,000 A 3,600
01 AR ESFH S 9,000 A 3,600
SUE =ZH=II(000IH, pHOIH) &
6,000,000 » 14! 6,000
Oetd &Hl F 2,000,000& =14 2,000
O=sd2gd oAX ¢ 250,000& *4H 1,000
Ste=XMolsEEE 1,280,960 A 115,590
Gt == =& L3 1,280,960 A 115,590
2] =XelAld 2el 2 644,060 A 67,080
jelleals] 2,000 0
JIZtH22UHsE+ 2,000 0
OM=%g o2 2,000,000& » 14 2,000
B2 HH| 248,060 A 35,620
AtE 2t el i 62,860 380
OAMEH 2H=25 ¥ 500,000& 500
Oogxa a3+ 200,000& »23] 400
OMS 2 HIAZSF =&Hl  2,000,000& 14 2,000
SaMelBY 2B 442
1,000, 000& =1 1,000
OAlet 2l 1,000,000& 14 1,000
ogx 57,960
— o 60,0002 x2H 118 14,160
— =3 60,0003 x2H «3652 43,800
=323l 185,200 A 36,000
O&J|etE e+ 350,000& =128 4,200
OAEE & EH |X2cl 20,000,000& 14 20,000
OXIIRS 10,500,000& = 12& 126,000
ONEES HUFEY 8% 442
15,000, 000& » 14 15,000
Ox=ZEXNsEHII(TMS) S X 22
10,000, 000& » 1 10,000
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SN BAESD
BE: aHelsHes
ol stamel AU (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ox=&EXNSEHII(TMS) F = H A
4,000,000& =14 4,000
O=ZEXNSZFII(IMS) B=F A THHI ALY &
=kl 6,000,000 » 14! 6,000
206 M= Hl 84,000 84,000 0
01 M= 4l 84,000 84,000 0
O2=dt=xel 435 ¢ 46,000,000& 14 46,000
Odt=HMelAlE HHFAL(HAH L RAUE=S)
10,000, 000& » 14 10,000
OFEAXNSSEHI(MS) 28 £ 22 7¢
10,000, 000& =14 10,000
OB R (B2, =ZSEHIZ 5)
18,000, 000& » 14 18,000
307 glz2+ol & 84,000 113,460 A 29,460
05 212t E = 84,000 113,460 A 29,460
O2=dt=s Xl |E Xl
150,000& *400&E » 14 60,000
O+ELSSHII(THS) AL 2lbl
2,000,000& x12& 24,000
401 Al HIZ 2018 226,000 223,000 3,000
01 A& HI 225,000 222,000 3,000
OSHZE o LLEHX =4
10,000, 000& =1 10,000
Ottt JIHEH |2 20,000,000& 1= 20,000
OZEH |XNE= 20,000,000& » 14 20,000
OJIAEH | 2= 35,000,000 14 35,000
O&IIZHl |X 2= 20,000,000& » 14 20,000
ONSHUEH |ANE=> 30,000,000 x14 30,000
Ottst7t =8 A=) X2+
15,000, 000& 14 15,000
OE==Jl = WH 15,000, 000& =1 15,000
OJIsZlth 220 TE MHBA
60,000,000& =14 60,000
03 Al 2 THHI 1,000 1,000 0
OJIAEH |X 2= 500,000& » 14 500
O&dJI&dl € USHHEE |X 2=
500,000& » 14 500
JadtHelAd 2el 23 636,900 685,410 A 48,510
101 124 dl 5,000 3,000 2,000
04 JI2ZHHZ2XREES 5,000 3,000 2,000
OMz=&g 2 5,000
201 Let24d] 252,220 300,730 248,510
01 At 22l 38,000 40,560 A 2,560
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2H: BEESDY
RS e e
el G2 +EYE (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OxZTNS 2240 e Sl
2,200,000& x 14! 2,200
OMRE 2H=8 ¢ 4,000
OEF=EE 15,000 x2E «12& 360
OFxJ gdU= 30,000& *1JHx12& 360
Oo&gs P2 150, 000& 6 H 900
O&dsg P2 150,000& *6H 900
ogxa 312 150, 000& *23] 300
O &l 28,980
— oA 60,0003 *x1H 118 7,080
- =25 60,0003 1™ *365< 21,900
02 3524t 214,220 260,170 AN 45,950
O&JI|otM2e] a2 600,000& = 12& 7,200
OAgtordze] e =2 300,000& 128 3,600
Ogs+s UYE SR7Y 1,400,000 1 1,400
Odtx=HelANE MEIH AIEZ
2,000,000 1 2,000
odIIe=2 160,000,000& =14 160,000
Ofdle=R2 1,000, 000& 1 1,000
OfdUSANES 90,000& x12& 1,080
O3 KFH| 120,000& ~12& 1,440
Ot 3y e X &2 3,000,000%14 3,000
OXZEXNSSHII(TMS) B HAL £2=2
1,500, 000& *13] 1,500
OX=ZEXNS=HII(TMS) EH A THHI AFE 2 AL
750,000& *2CH 1,500
OBANLE 1,500,000& 1 1,500
OUNEE 2! 3,000,000& =14 3,000
O XeAE M= 3,000,000& *23| 6,000
OANMEZE Y FHHl A2 20,000,000 14! 20,000
202 044 3,000 3,000 0
01 2LHOHI 3,000 3,000 0
OZAHEHIZAEAS 2WOH 3,000,000 =1 3,000
206 T2 HI 122,000 111,000 11,000
01 XHZ Hl 122,000 111,000 11,000
Odtx=Hel ¢35 7 20,000,000& =1 20,000
O*&EXNSEHII(TMS) 25 2 (C0D,SS,T-N,T
-P) 12,000,000& x 1 12,000
OAaga ARE U(ZXNF , WEES)
6,000,000& 1 6,000
OTHEZHY 2 XM 2 10,000,000& 14 10,000
OgJ UE 2¢ 6,000,000& *23| 12,000
OtEx dA 2 10,000, 000& 14! 10,000
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EX: sH3Es
M saHsARE
ol stamel AU (ol @)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Oudm el 10,000,000 » 1Al 10,000
O2FH MAZX (UPS) 22 8,000,000 14! 8,000
OZSLMAHA & HIA HHAEd oA
20,000,000& = 14! 20,000
O&IIL&H &8 ¢ 5,000,000& «1 5,000
OsoHdel UE 2l 60,000& *150&t 9,000
207 A O 4| 16,360 16,360 0
01 24| 3,000 3,000 0
OsHANAEHe| SO E 24
3,000,000 =14l 3,000
03 A& A 32H| 13,360 13,360 0
Ofx&EN 42 1,000,000 x123] 12,000
OsdXl 248 =42 200,000& *43| 800
OAFEA 442 40,0002 43| 160
Obdtd 4 =E2IBA =2 100, 000 & x4 3] 400
307 QI2t0| ™ 160,320 160, 320 0
05 QIZtREZ 160,320 160, 320 0
Oodtx==H Xl A A2 136,320,000 136,320
OFZEXNS=HI|I(TMS) fEF 22|
2,000,000 x12& 24,000
401 AlEHIZL 201 Y| 78,000 78,000 0
01 Al&H| 78,000 78,000 0
OFAMNEX SHEOZE =LA
9,000,000& x23] 18,000
OJIAEY | B 20,000,000 x 14 20,000
O&II&Hl | B 20,000,000& =14 20,000
OxZ4&Hl |A B 10,000,000 =1 Al 10,000
OB ANXNAEH ®X B 10,000, 000& = 1Al 10,000
HHSAAY (#HEES ) 73,524 72,144 1,380
Jleddl 73,524 72,144 1,380
SAES Y J|=2AH| 73,524 72,144 1,380
201 gEt24Ay| 31,104 31,104 0
01 AP 22| d| 31,104 31,104 0
O S M0l A 27,104
O&tdEs HdRFE 2 EH| 4,000,000& 4,000
202 04| 36,720 36,720 0
01 2Ll 36,720 36,720 0
O M & 36,720
203 €2 F=&d| 5,700 4,320 1,380
04 EANSIELRF=XH| 5,700 4,320 1,380
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